BhERe R4

RIERIBHLEIER T

% C€

TR

ElEiReL

90.1014 19, 50H, 59, 59S, PROOH 5 M4 x 6 DIN912, DIN84

90.1018 19, 50H, 59, 59S, PR9OH, E58HS, E58HM, SMRS19, SMRS59, SMRS59S 3 M4 x 6 DIN912, DIN84

90.1020 19, 50H, 59, 59S, PROOH, 64, E58HS, E58HM, SMRS19, SMRS59, SMRS59S 3 M4 x 6 DIN912, DIN84

90.1024 19, 50H, 59, 595, PRI0H, 64, E58HS, E58HM, SMRS19, SMRS59, SMRS59S 3 M4 x 6 DIN912, DIN84

90.1025 77,80 5 M4 x 6 DIN912, DIN84

90.1026 64 3 M4 x 6 DIN912, 3 M4 DIN127
90.1027 19, 59, 595, PRIOH, 64, 64S, 66, SMRS19, SMRS59, SMRS59S, SMRS64, SMRS64S 4 M3 x 6 DIN7985, 4 M3 DIN127B
90.1036 22, 22H, E36HM, E36HS 2 M2,5 x 5 DIN7985, 2 M2,5 DIN6798A
90.1037 22, 22H, E36HM, E36HS 2 M2,5 x5 DIN7985, 2 M 2,5 DIN6798A
90.1038 SMRS 64 4 M2,5 x 6 DIN912, 4 M2, 60 DIN127B
90.1039 64, 64S, SMRS64, SMRS64S 2 M3 x 6 DIN912, 2 M3 DIN127B
90.1040 19, 59 =

90.1041 64, 64S, 66, 77, 80 1 M3 x 6 DIN912, 1 M3 DIN127
90.1045 19, 59, 59S, PRI0OH, 64, 64S, 66, E58HS, E58HM, SMRS19, SMRS59, SMRS59S, SMRS64, SMRS64S 4 M3 x 6 DIN7985, 4 M3 DIN127
90.1046 64, 64S, SMRS19, SMRS59, SMRS59S, SMRS64, SMRS64S 2 M3 x 6 DIN912, 2 M3 DIN127
90.1071 64, 64S, SMRS19, SMRS59, SMRS59S, SMRS64, SMRS64S 2 M3 x 6 DIN7985, 2 M3 DIN127
90.1072 64, 64S, SMRS19, SMRS59, SMRS59S, SMRS64, SMRS64S 2 M3 x 6 DIN7985, 2 M3 DIN127
90.1075 19, 50H, 59, 59S, PR90H, E58HS, E58HM 3 M4 x 6 DIN912, 3 M4 DIN127
90.1076 19, 50H, 59, 59S, PR9OH, E58HS, E58HM, SMRS19, SMRS59, SMRS59S 2 M4 x6DIN912, 2 M4 DIN127
90.1083 22, 22H, E36HS, E36HM 2 M2,5 x 5 DIN7985, 2 M 2,5 DIN6798A
90.1086 64, 64S, SMRS19, SMRS59, SMRS59S, SMRS64, SMRS64S 2 M3 x 6 DIN912, 2 M3 DIN127B
90.1095 19, 50H, 59, 595, PRI0H, 64, E58HS, E58HM, SMRS59, SMRS59S 3 M4 x 6 DIN912, 3 M4 DIN127
90.1101 64, 64S 4 M2,5 x 6 DIN912, 4 M2,60 DIN127B
90.1108 80 6 M3 x 6 DIN912, 6 M3 DIN127B
90.1109 77 6 M3 x 6 DIN912, 6 M3 DIN127B
90.1110 50H 2 M2,5 x 5 DIN7985, 2 M2,60 DIN127B
90.1111 22, 22H, E36HM, E36HS 2 M2,5 x 5 DIN7985, 2 M2,5 DIN6798A
90.1116 28, E24HS 3 M1,6 x 5 DIN7985

90.1119 77 6 M3 x 5 DIN912, 6 M3 DIN127B
90.1124 67, 67S 2 M4 x 6 DIN912

90.1129 67, 67S 2 M3x 5 DIN912, 2 M3 DIN127B
90.1132 22M 2 M3x 6 DIN7985, 2 M3 DIN6798A
93.0102085 22,22H 2 M2,5 x 5 DIN7985, 2 M2,5 DIN6798A
93.0102086 50HI 2 M2,5 x 6 DIN912

93.0102087 22, 22H, E36HS, E36HM 2 M2,5 x 5 DIN7985, 2 M2,5 DIN6798A

www.encoderhohner.com - info@encoderhohner.com - Tel.: (00 34) 972 16 00 17

AUTOMATION




BhnEe R

RIEHORHEIS RS
Xt iSH RS RRT ElEige
93.0102090 19, 59, 59S, PR9OH, E58HS, E58HM 4 M3x6 DIN7985, 4 M3 DIN127B
93.0102094 28 2 M2 x4DIN912
93.0102112 22M 2 M3 x 5 DIN912, 2 M3 DIN127B
93.0102145 22, 22H, E36HS, E36HM 2 M 2,5 x5 DIN7958, 2 M2,5 DIN6798A
93.0102150 22, 22H, E36HS, E36HM 2 M 2,5 x5 DIN7958, 2 M2,5 DIN6798A
90.1014 90.1018

20

.. P45

90.1020 90.1024

o |
o .

265
20

90.1025 90.1026
28,7
19 3
_(
3 <0 e W1 1€
’g‘ T ¢34 2l
S 93
¥ N . =
—— % N
S -
5 .

www.encoderhohner.com - info@encoderhohner.com - Tel.: (00 34) 972 16 00 17 h hohner
AUTOMATION



BhnEe R

RIBRIBHLERE RS

90.1027 90.1036
.

90.1037 90.1038

90.1039 90.1040

90.1041 90.1045

hohner www.encoderhohner.com - info@encoderhohner.com - Tel.: (00 34) 972 16 00 17

AUTOMATION




BhnEe R

RIERIBHEEIE RS

90.1046 90.1071

L :
]
S
90.1072
90.1076 90.1083
=
i
90.1086 90.1095

AN i I o '”I
! & 2—‘ s P

.
2 %0"

. ‘ - :;1
1

info@encoderhohner.com - Tel.: (00 34) 972 16 00 17 I.. hohner
AUTOMATION

www.encoderhohner.com -




BhnEe R

RIERIBHEEIE RS

90.1101 90.1108

90.1109 90.1110

90.1111 90.1116

90.1119 90.1124

hohner www.encoderhohner.com - info@encoderhohner.com - Tel.: (00 34) 972 16 00 17

AUTOMATION




BhnEe R

RIBRIBHLERE RS

90.1129 90.1132

(€]
n el -

o=

= ) T
Tool” R #FeL.
ﬁi ' h @\ @ i_L »63
-
93.0102085 93.0102086
) 1 =D m !
m— :

Q 204 -
{ PN 114 :i
I T~
'

93.0102087 93.0102090

N

B

10
o
o

(€T
®49.

%
— (A
]
t 145
> [E e — T —

93.0102094 93.0102112

www.encoderhohner.com - info@encoderhohner.com - Tel.: (00 34) 972 16 00 17 h hohner
AUTOMATION



BhnEe R

RIERIBHEEIE RS

93.0102145 93.0102150
& %‘/;!\/35‘ "3\\~. v
!;7 ) : i ; \\ Ol : §
R
\ L/ \\ /,’
S
I |
L @ |

hohner www.encoderhohner.com - info@encoderhohner.com - Tel.: (00 34) 972 16 00 17

AUTOMATION




